B Solve each equation or problem; then find your
| answer 1o the right. Write the letter of the exercise
in the box that contains the number of the answer. .

-by = 60 -32 = 8m
a _ 1, _

2 =9 £k =20
77 = —11w 15=J8‘4

(D The product of a number and The quotient of a number and
9 is ~450. Find the number. —3 is —80. " Find the number.

@ 109= 45 Lh=-12 ~360 = —4p
-2 -3 cx= 17 —90d = 9
25 = = =
4 =-1p —400 = 20v —y = -180

7 Thirty copies of a textbook One-ninth of the candies in a

- weigh-a totat-of 75 1o What " bag of M&M's are red. If thére ™

is the weight of each book? are 16 red candies, how many
M&M'’s are in the bag?
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